20S-MATH61-2 Midterm 1

GEORGE OWEN

TOTAL POINTS

40 /50

QUESTION 1
1Question14/10

- 0 pts Correct, or mostly correct.

v - 4 pts Major algebraic/conceptual error.

- 2 pts Misleading notation, circular reasoning, or
wrong proof direction (necessary instead of
sufficient).

v - 2 pts Conceptual error.

- 1 pts Minor conceptual error/typo, or unproven
claim.

- 6 pts Not clear what is happening, or incorrect

proof.

o No. This is a major mistake. For example, when k =

0, the left hand side is 16, whereas the right hand side
is4+1=5.

QUESTION 2
Question 210 pts

21Parti.a/s
- 0 pts Correct
v -1 pts Minor mistake.

- 2.5 pts Incorrect.

© should be 26.

2.2 Partii.5/5
v - 0 pts Correct
-1 pts Minor mistake.
- 2 pts Conceptual mistake.
- 2.5 pts Incorrect.

- 5 pts No submission.

QUESTION 3
Question 310 pts

31Parti.6/6
v - 0 pts Correct
- 4 pts Incorrect assumption/proof (see note).
- 2 pts Incorrect.
- 1 pts Minor mistakes/misuse of notation.
- 5 pts Vague/ambiguous statement(s).

- 6 pts No submission.

32 Partii.a/a
v - 0 pts Correct
- 2 pts Incorrect assumption/explanation/proof.
- 4 pts No submission.
- 2 pts False/Unproven/unexplained claim.
- 0.5 pts Unproven/unexplained believable claim.
- 1 pts Correct idea, but incomplete
explanantion/proof.

- 3.5 pts Vague/ambiguous statement(s).

QUESTION 4
Question 4 10 pts

41Parti.5/5
- 0 pts Correct
v - 0 pts Correct, but see note.
- 1 pts Poor/Inaccurate argumentation (see note).
- 4 pts Not a proof, or incorrect argumentation (see
note).

- 2 pts Missing argument(s).
€ Sscratch this.

By writing "By the INSERT NAME HERE property", you
are giving the impression that you are using said
property.

You are not using it, instead you are proving it.

4]



Nicely done. You are abusing notation; that is,
using the symbols | | outside of their usual context. *"there" paths = 3*2*2 =12
When doing so, a note like this helps the reader *"back" paths = (3*1+1)*1*2 = 8
understand the new context.

For no shortcut:

42 Partii.s/5

- 0 pts Correct * "there" paths = 3*2*1*3 =18
v - 0 pts Correct, but see note. * "back" paths = 2*1"2 = 4

- 2 pts Incorrect. See note.

- 0.5 pts Little to no arguments provided. Total =12*8 + 184 = 168

- 0.5 pts Correct idea, but poor argumentation.

- 4 pts Not a proof, or incorrect argumentation (see
note).

- 1 pts Incorrect claim (see note).

- 2 pts Missing argument(s).

© We have defined "symmetric" and "anti-

symmetric". Here, by "asymmetric" you clearly mean
not symmetric... but in math, sometimes terminology
is not intuitive (e.g., not open, does not mean closed,
sets could be both open and closed). Next time, use

terms that avoid ambiguity.

QUESTION 5

5 Question 57/10

- 0 pts Correct

- 2 pts Incorrect/Incomplete answer (see note).

- 3 pts Partial, or incorrect answer (see note).
v - 4 pts Incorrect, but partial credit awarded.

- 0.5 pts Incorrect answer, but [mostly] correct
procedure.

- 2 pts Incorrect partial answer (see note).

- 0 pts Attempted a different problem.

- 10 pts Missing submission.

- 1 pts Minor mistake.

+ 1 Point adjustment

Some correct use of counting principles.

G It appears you wanted all legs to be different. The
answer is

For shortcut:
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1Question14/10
- 0 pts Correct, or mostly correct.
v - 4 pts Major algebraic/conceptual error.
- 2 pts Misleading notation, circular reasoning, or wrong proof direction (necessary instead of sufficient).
v - 2 pts Conceptual error.
- 1 pts Minor conceptual error/typo, or unproven claim.

- 6 pts Not clear what is happening, or incorrect proof.

o No. This is a major mistake. For example, when k = 0, the left hand side is 16, whereas the right hand side
is4+1=05.
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21Parti.a/5
- 0 pts Correct
v -1 pts Minor mistake.

- 2.5 pts Incorrect.

© should be 26.
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22 Partii.s/5
v - 0 pts Correct
- 1 pts Minor mistake.
- 2 pts Conceptual mistake.
- 2.5 pts Incorrect.

- 5 pts No submission.
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31Parti.e6/6
v - 0 pts Correct
- 4 pts Incorrect assumption/proof (see note).
- 2 pts Incorrect.
- 1 pts Minor mistakes/misuse of notation.
- 5 pts Vague/ambiguous statement(s).

- 6 pts No submission.
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32Partii.a/a
v - 0 pts Correct
- 2 pts Incorrect assumption/explanation/proof.
- 4 pts No submission.
- 2 pts False/Unproven/unexplained claim.
- 0.5 pts Unproven/unexplained believable claim.
- 1 pts Correct idea, but incomplete explanantion/proof.

- 3.5 pts Vague/ambiguous statement(s).
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41Parti.5/5
- 0 pts Correct
v - 0 pts Correct, but see note.
- 1 pts Poor/Inaccurate argumentation (see note).
- 4 pts Not a proof, or incorrect argumentation (see note).

- 2 pts Missing argument(s).
€ Scratch this.

By writing "By the INSERT NAME HERE property", you are giving the impression that you are using said
property.

You are not using it, instead you are proving it.

O Nicely done. You are abusing notation; that is, using the symbols | | outside of their usual context. When
doing so, a note like this helps the reader understand the new context.

Page 14



| ' JSM";MJL E-fﬂsm X pm‘\ Jﬂ‘

e e

B

R ER) wd
HEne

L \5«\([_. & {5 h.Tle,,«,‘ ’;7.,1

\: )‘ L/‘ \hl éru-m 'luML

\

m}l\'lt

W | e.v\wa\(m& h,hh

#

Care

bl |
[

ﬂ"'

& for
K;.',,L\y L

EEEE
121 1‘

’ ‘_7%, l?‘ (%] \jwni(_( m,,.

*thf. fobvn !Ml J*1
with M=)

"i Mw(’ 3' ‘

|

n

_-ls

0
~

=l
[T

i %R =
i L\A?fw\hmq {du mﬂ‘ &
[




42 Partii.5/5
- 0 pts Correct
v - 0 pts Correct, but see note.
- 2 pts Incorrect. See note.
- 0.5 pts Little to no arguments provided.
- 0.5 pts Correct idea, but poor argumentation.
- 4 pts Not a proof, or incorrect argumentation (see note).
- 1 pts Incorrect claim (see note).

- 2 pts Missing argument(s).

e We have defined "symmetric" and "anti-symmetric". Here, by "asymmetric" you clearly mean not
symmetric... but in math, sometimes terminology is not intuitive (e.g., not open, does not mean closed, sets

could be both open and closed). Next time, use terms that avoid ambiguity.
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5 Question 57/10

- 0 pts Correct
- 2 pts Incorrect/Incomplete answer (see note).
- 3 pts Partial, or incorrect answer (see note).

v - 4 pts Incorrect, but partial credit awarded.
- 0.5 pts Incorrect answer, but [mostly] correct procedure.
- 2 pts Incorrect partial answer (see note).
- 0 pts Attempted a different problem.
- 10 pts Missing submission.
- 1 pts Minor mistake.

+ 1 Point adjustment

Some correct use of counting principles.

G It appears you wanted all legs to be different. The answer is
For shortcut:

* "there" paths = 3*2*2 =12
*"back" paths = (3*1+1)"1"2 = 8

For no shortcut:

* "there" paths = 3*2*1*3 =18
*"back" paths =2*1"2 =4

Total =12*8 +18"4 =168
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